EARAZROREIERT — 2 N—XBISY —F 2016528160 (&) 11EARIE2H

W ORCEH 4 3EAFEREH C2HEA IR EREE R
[x&<£] 1 % :1,000,000 @ ~ 23 :300,000 M ~ 337 :180,000 @ ~ 4 3 :120,000 M ~ 5 7 :100,000 M
B BB mEBR Mk HE BF (F8) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. i i o4 | tAAKERE 1:15.3 3-3-3 [38.8| — 6 481 | WA (faks)
11811 33/7:;(7 e e 54.0 =) oy | B 77 s
A4 oagvhLyy B XA4x09AT 752 Nig
NS AT # 5 sﬂéﬂglEi 1:15.4 8-7-7 [38.0| — | 4 | 464 EEE% (#ats)
. 1/2 ) | 1B
A=WV h7 BN-FLTx>T> (2 -2 FH GhE
sy o VI XHAT o4 | FHEE 1:15.4 222 389 — | 2 | 49 L_tgw%uﬁ (#48)
i N Sz
Ry Y kuE BiUUREMNLT— v #1525
4 4| 77r82AXIdUT # 5 SEGH(FE 1:15.5 5-5-5 385 — | 8 | 473 K}g%aéﬂ‘a%)
: (7€) 5 &
R:T7rBAFT4vIT4 N BiELYLTTINT (-3) A
Lk f s 4 o4 | HBXH 1:15.6 4-4-4 | 39.0| — 1 502 | BHEE (fHE)
se FroErahmr 5.0 (1/2) (o |FEERE
KT RRAYL—> B:ky XYz TAXA T7—L
S s ft 5 | FREZ 1:16.0 1=1-1 [39.7| — 9 468 | BEFK (IIF)
6111 ;_2{/,75)(?['_/ /‘ o 54.0 ©) 0 bﬂﬁﬁg%
: Sr— B:T-4FL—-X FREBS
71719 | NYTHEDY Ho4 ?ﬁ)it 1:17.0 1-11-11 | 38.5| — | 11 | 487 ﬁ;ﬁﬁ? (#atm)
. 5 =
RTINTSYT BHLRA S F A= © ) | gman r1x
g . # 5 | KEEZ 1:17.0 6-5-6 | 40.0| — 7 491 | HABEX (11I&)
EH 7| 7T ARV v A 54.0 (") Chy | AHEE
R:FVaF43IVA— B:3270 FET 7 — L
9lglio| 77 7T VY # 5 | EER A 10-10-9 | 38.7| — | 5 | 43 E;ﬁﬁaﬁ)
. as
QARG T M F— Tk BPATrO-¥LX ( G2 Emm g
10l5lel/fvE>Z B4 gf‘ﬂsﬂ“ﬁ 1:17.9 9-9-10 |39.7| — | 12 | 430 f}%gﬁﬁ (#at%)
. 4 2
QAT E—5— Bi*L 27Uk @ ) | gan =
— ) — fo4 | BEEZ 1:18.2 12-12-12 [ 39.5| — | 10 | 477 |#ER (#4)
155 TH7V=F 54.0 (1 1/2) (g [WORE
ihxreFx) BRI IA tE B
=5 _ 4 8 | WikEE 1:18.6 7-8-8 | 41.0| — 3 483 | EHtEE— (1)
EH ’ ;;F‘f-tzg. I %0 @ 7R || e L
TyIS—L BRIV T4—N HTHE
® I —F—EBIERL
13—7—
20—F— 1,2,11,8,4,7,3,10,6,12,9,5
Jo=3r= 1,2,11,8,(4,7),10,3,6,12,9,5
41 —F— 1,2,11,8,4,7,10,3,12,6,9,5
[ F/N=5
B OB 1 1,180M 714K 10-11 960 % E 7-8 1,560M &8 2-10-11 5,440
7 B 1 320M 2-11 730 | | B B 8-7 2,760/ | | 3EE [ 11-10-2 42,110
10 200 2-10 710M B & 10-11 3,810
2 170M B H 11-10 7,800

ABICOVWTRDTEEERROODE. TR LIV,



